BEEEDERE
FLYDEY AN 4—)L600-5-40

<EERIZET HFHE>

120
s ——1100
620 LRV
Jwt w3~ PH
6L w2 :]120
Lr
430
120
34 H]]]]IDW 1
HEDOAR 9
PA = 0.40x 17.0x 0.627x 1/2
PH = 1x ¢0s0.0’
PV = 1x sin0.0’
PA = 0.40x 5.0x 0.62
PH = 1x ¢0s0.0’
PV = 1x sin0.0°
Mt = 1x 0.21
+ 1x 0. 31
Mr = 2x 0. 06+ 2x 0.28
+ 6x 0.34
+ 0x 0.55
e 3/ 1
Hr = 0.40x 10
+ 0
BEBREER 4/ 3
d = ( 3- 1/ 10
e = 0.28- 0.19
e/L = 0.08/ 0.55
omax ( 10/ 0.55)x 1.92
omin ( 10/ 0.5b)x 08

o ~—~1Il ~~—~-—~1I ~~ 1 1 1 1 ui

TOE= 17.0, W))-tOEE 24.0
EEIR{%% 0.40, REH R 5.0
(TEFRBIEIEERANIZLD)
REFEAOLEFRE 0.400
BERETERO LT EZER 0. 400

40kN/
5kN/
1kN/

W = 24 W2 = 1.6, W3 = 5.8
PH = 1.3, PV = 0.0
PH = 1.2, PV = 0.0
Mt = 1, Mr = 3
d = 019, e = 0.08
e/L = 0.15<1/6, omax = 34 < 40
SR EE 3.86, BEIXEE 1.54
[] Q i
( at ) ( &% )
BEAEER 0.4 1.9 D10@300
(45 ( 0.19)
BERRRE 0.1 0.7 D10@300
(0.50%H) | ( 9) ( 0.04)
K hRAITER
[EhRi% &R -0.6 -0.9 D10@300
¢ 97 ( 0.41)
Tmax E¥{K 0.04 <0.70
JERR 0.03 < 0.70 avyY-+ Fe21

kN (REFEROEESEN)
TkN  (PA DKFEHS)
OkN  (PA DERERS)

1 (REHFHEROLEFREEH)
1 (PN DKFERS)
0 (PN DERERLS)
0) (PH IZKBERBIE—A 2 K)
0) (PH IZ& BECBIE—A 2 B)
TkN-m (Z2EEIE—A 2 )
1) W1-W2 2k BERE—ADL)
2) W3 IZ&BERE—A)
0) (PV-PV' [CkBERE—AH)
3kN-m (£EHRE—A )
3.86 (Mr/Mt)

4 (EEERIZS2BBER. ©-ZW)

0) (ATEZBLEIC & 5EEIED)

4N (ZBBEIAN)
1.54 (Hr/ (PH+PH") )
0.19m  (EHERMLE. WMr-Nb)/ZW)
0.08m  (fmDEERE. L/2-d)
0.15 < 1/6
34kN/m2 (e R¥EHhIE. (X W/L) - (1+6e/L) )
TkN/m2 (R/MEMIE. (X W/L) - (1-6e/L) )

P=PH+PH"=1.31+1.24=2_55kN

—

—

—

D6-@300
0.42

D6-@300
0.09

D6-@300
0.91

M=1.31x 0.21+1.24% 0.31=0.66kN/m

h=0.66/2.55 0.26m
Ps=2.55% 3 7.65kN

P=2.55~7._65kN



yoshio
テキストボックス

yoshio
線

yoshio
線

yoshio
テキストボックス
100

yoshio
テキストボックス
・必要地耐力　40kN/㎡以上（長期）
・表面載荷　　 5kN/㎡以下
・天端荷重　　 1kN/ｍ以下

yoshio
テキストボックス
→　D6-@300　に変更
　（　0.42）

yoshio
テキストボックス
→　D6-@300　に変更
　（　0.09）

yoshio
テキストボックス
→　D6-@300　に変更
　（　0.91）

yoshio
長方形

yoshio
長方形

yoshio
線

yoshio
線

yoshio
線

yoshio
線

yoshio
テキストボックス
P=2.55～7.65kN

yoshio
テキストボックス
P=PH+PH'=1.31+1.24=2.55kN
M=1.31×0.21+1.24×0.31=0.66kN/m
h=0.66/2.55＝0.26m
Ps=2.55×3＝7.65kN

yoshio
テキストボックス
h=260㎜


FLUDE YA~ 4—)L800-5-50

<EERIZET HFHE>

120
. ——1100
820 \EEY
Lw w3 PH
6L w2 ~]120
Lr
580
120
41 DHIDIIHIDBIDDIP 2
HEDOAR 9
PA = 0.40x 17.0x 0.82°x 1/2
PH = 2x cos0. 0"
PV = 2x sin0.0°
PA = 0.40x 5.0x 0.82
PH = 2x cos0. 0"
PV = 2x sin0.0°
Mt = 2x 0.27
+ 2x 0. 41
Mr = 3x 0.06+ 2x 0.35
+ 10x 0. 41
+ 0x 0.70

Hr 0x 15
0
BEBREER 6/ 4
d = ( 5- 1/ 15
e = 0.35- 0.24
e/L = 0.11/ 0.70
omax ( 15/ 0.70)x 1.92
omin ( 15/ 0.70)x 08

o ~—~1Il ~~—~-—~1I ~~ 1 1 1 1 ui

TOE= 17.0, W))-tOEE 24.0
EEIR{%% 0.40, REH R 5.0
(TEFRBIEIEERANIZLD)
REFEAOLEFRE 0.400
BERETERO LT EZER 0. 400

50kN/
5kN/
1kN/

W = 30 W2 = 20 W3 = 9.8
PH = 2.3, PV = 0.0
PH = 1.6, PVV = 0.0
Mt = 1, Mr = 5
d = 024 e = 011
e/L= 0.15<1/6, omax = 41 < 50
SR EE 3.78 BIXEE 1.51
[] Q i
(at ) ( &% )
BEAEER 0.9 3.1 D10@300
( 100) (0.42)
BERRRE 0.2 1.1 D10@300
(0.50«H) | ( 20) ( 0.08)
K hRAITER
[EhRi% &R -1.2 -1.1 D10@300
( 200) ( 0.84)
Tmax E¥E{K 0.07 <0.70
JERR 0.04 < 0.70 av9Y-+ Fe21

kN (REFHERADEIESEN)
2kN  (PA DKFERLS)
OkN  (PA DERERS)

2 (REHFHEROLEFREEH)

2 (PN DKFERS)

0 (PN DERERLS)

1) (PH IZKBERBIE—A 2 K)

1) (PH IZ& BECBIE—A 2 B)

TkN-m (ZERBIE—A 2 F)

1) W1-W2 2k BERE—ADL)

4) W3 IZ&BERE—A)

0) (PV-PV’

5kN-m
3.78

(ZERE—F2F)
(Mr/Mt)

2K ZEBRE—AL)

—

—

6) (EEEZEICKSBBER. u-ZW)

0) (ATEZBLEIC & 5EEIED)

6kN  (2BENEHN)
1.51 (Hr/ (PH+PH") )
0.24m  (EHERMLE. Mr-Nb)/ZW)
0.11m  (fmDEEEE. L/2-d)
0.15 < 1/6
A1KN/m2 (e R¥EHIE. (ZW/L) - (1+6e/L) )
2kN/m2 (F/hEsE.  (ZW/L) - (1-6e/L) )

P=PH+PH"=2.29+1.64=3.93kN

D6-@300
0.93
D6-@300

0.18

M=2.29x% 0.82/3+1.64x 0.82/2=1.30kN/m

h=1.30/3.93 0.34m
Ps=3.93x 3 11.79kN

h=340

< P=3.93~11.79kN



yoshio
テキストボックス

yoshio
線

yoshio
線

yoshio
テキストボックス
100

yoshio
テキストボックス
・必要地耐力　50kN/㎡以上（長期）
・表面載荷　　 5kN/㎡以下
・天端荷重　　 1kN/ｍ以下

yoshio
テキストボックス
→　D6-@300　に変更
　（　0.18）

yoshio
テキストボックス
→　D6-@300　に変更
　（　0.93）

yoshio
テキストボックス
P=PH+PH'=2.29+1.64=3.93kN
M=2.29×0.82/3+1.64×0.82/2=1.30kN/m
h=1.30/3.93＝0.34m
Ps=3.93×3＝11.79kN

yoshio
線

yoshio
線

yoshio
線

yoshio
長方形

yoshio
長方形

yoshio
線

yoshio
テキストボックス
P=3.93～11.79kN

yoshio
テキストボックス
h=340㎜


FLOXv R+ 9+ —)L1000-5-50

<EERIZET HFHE>

120
r 100
1050 QV
L w3 PH
6L w2 ~ 150
[
780
120
46 [ g
HEDOAR 9
PA = 0.40x 17.0x 1.057x 1/2
PH = 4x ¢0s0.0’
PV = 4x sin0.0’
PA" = 0.40x 5.0x 1.05
PH = 2x cos0. 0"
PV = 2x sin0.0°
Mt = 4x 0.35
+ 2x 0.53
Mr = 4x 0. 06+ 3x 0.45
+ 16x 0.51
+ 0x 0.90
e 10/ 2
Hr = 0.40x 23
+ 0
BEBREER 9/ 6
d = ( 10- 2)/ 23
e = 0.45- 0.32
e/L = 0.13/ 0.90
omax ( 23/ 0.90)x
omin ( 23/ 0.90)x

h=420

o ~—~1Il ~~—~-—~1I ~~ 1 1 1 1 ui

TnEE 17.0, VI-tOEE 24.0
BEZfRE 0. 40, REH A

(TERBIFEEANIZE D)
REFEAOLERE 0.400

5.0

50kN/
5kN/
1kN/

BRGTERAO L ERE 0.400

W = 3.6 W2 = 32 W3 = 15.8
PH = 3.7, PV = 0.0
PH = 2.1, PV = 0.0
Mt = 2, Mr = 10
d = 0.3, ¢ = 013
e/L= 0.14<1/6, omax = 46 < 50
SEIREE 4.04 BIYREE 1.55
[] Q i
( at ) ( &% )
BEAEER 1.6 4.6 D10@300
( 187 ( 0.79)
BERRRE 0.3 1.6 D10@300
(0.50«H) | ( 35H) ( 0.15)
K hRAITER
[EhRi% &R -2.3 -1.2 D10@300
( 205) ( 0.87)
Tmax E¥{K 0.10 < 0.70
JERR 0.02 < 0.70 av9Y-+ Fe21

4kN

4kN

OkN

2

2

0

D)

1)

2kN-m

2)

8)

0)

10kN-m
4.04

9)

0)

9kN
1.55
0.32m
0. 13m
0.14

46kN/m2
4kN/m2

(REFERADTEEN)

(PA DKFERLS)

(PA DEERS)
(REHFHEROLEFREEH)

(PN DKFERS)

(PN DERERLS)

(PH IZKBERBIE—A 2 K)

PH IZ& BEREIE—A 2 1)
(REEIE—AV M)

WT-W2 [CkBERE—ATF)

W3 IZ&BERE—A)

(PV-PV' [CkBERE—AH)
(ZERE—F2F)

(Mr/Mt)

(EEERICKZBEHER. ©-ZW)
FTEZEBLEIC L S EEH)
(£BBIERAN)

(Hr/ (PH+PH") )

(EHERME. WMr-Mt) /=W )

(R EEEE. L/2-d)

<1/6
(KRHEHIE.
(F/MEHIE.

(ZW/L) - (1+6e/L) )
(ZW/L) - (1-6e/L) )

P=PH+PH"=3.75+2.10=5.85kN

M=3.75% 1.05/3+2.10x 1.05/2=2.42kN/m
h=2.42/5.85 0.42m

Ps=5.85%x 3 17.55kN

<
~

P=5.85~17.55kN



yoshio
テキストボックス
・必要地耐力　50kN/㎡以上（長期）
・表面載荷　　 5kN/㎡以下
・天端荷重　　 1kN/ｍ以下

yoshio
テキストボックス

yoshio
線

yoshio
テキストボックス
100

yoshio
線

yoshio
テキストボックス
P=PH+PH'=3.75+2.10=5.85kN
M=3.75×1.05/3+2.10×1.05/2=2.42kN/m
h=2.42/5.85＝0.42m
Ps=5.85×3＝17.55kN

yoshio
線

yoshio
線

yoshio
線

yoshio
長方形

yoshio
長方形

yoshio
線

yoshio
テキストボックス
P=5.85～17.55kN

yoshio
テキストボックス
h=420㎜


60kN/
5kN/
1kN/

FLYOXv R b 9+ —)L1200-5-60
<EEIZET SEHE>
TOE= 17.0, W))-tOEE 24.0
120 EEiR{R% 0.40, REHF 5.0
a 100 (TERBIIEEANICE D)
— REHERADTEHRE 0.400
BASTERAD T EHE 0.400
W = 42 W2 = 3.8 W3 = 22.0
PH = 53 PV = 0.0
1250 LPY PH = 2.5 PV = 0.0
Lt Lw3 " ﬂt - 33' v 0 12
= . , € = .
& 1150 e/L= 0.14<1/6, omax = 52 < 60
EEREE 4.01, BHReE 1.54
I — M Q [k
o 0 (at) (BE )
BEAEER 2.7 6.3 D13@300
52 MW 5 ( 31 ( 0.73)
BERRRE 0.5 2.1 D13@300
(0.50«H) | (  56) ( 0.13)
[ERRRTER
[EhRi% &R -3.7 -1.4 D13@300
( 324) (077
Tmax E¥{K 0.14 < 0.70
JERR 0.02 < 0.70 av9Y-+ Fe21
HEDORAR 9
PA = 0.40x 17.0x 1.25°x 1/2 = 5kN (REFERHDLTEESH)
PH = 5x c0s0.0° = 5kN  (PA DKFERS)
PV = 5x sin0.0° = OkN  (PA DERERS)
PA" = 0.40x 5.0x 1.25 = 2 (REFEAOLEHTEEN)
PH = 2x 60s0.0° = 2 (PA" DIKFERLS)
PV = 2x sin0.0° = 0 (PA" DERTERLS)
M = 5x 0.42 ( 2) (PH 2k BERfEIE—A 2 )
+ 2x 0.63 ( 2) (PH IZ& BECBIE—A 2 B)
= AkN-m (£ERBIE—A 2 B)
Mr = 4x 0. 06+ 4x 0.53 ( 2) W1-W2 2k BERE—ADL)
+ 22x 0.58 ( 13) W3 Ik BEME—A2H)
+ 0x 1.05 ( 0) (PV-PV' [CkBERE—AH)
= 15kN:m (2¥EME—AF)
EEReEE 15/ 4 = 4.01 (Mr/Mt)
Hr = 0.40x 30 ( 12) (EEERICKSEEER. «-ZW)
+ 0 ( 0) (FTESZELEIC & 5 EHER)
= 12kN  (&EFERAN)
BEREE 12/ 8 = 1.54 (Hr/ (PH+PH') )
d = ( 15— 4)/ 30 = 0.38m (BAERME. Mr-Mt) /=W )
e = 0.53- 0.38 = 0.15m (R EEBE. L/2-d )
e/L = 0.15/ 1.05 = 0.14 <1/6
omax ( 30/ 1.05)x = 52kN/m2 (B kit E. (ZW/L) - (1+6e/L) )
omin ( 30/ 1.05)x = S5kN/m2 (Fx/MEHIE. (ZW/L) - (1-6e/L) )

P=PH+PH"=5.31+2.50=7.81kN

M=5.31x 1.25/3+2.50x 1.25/2=3.78kN/m
h=3.78/7.81 0.49m

Ps=7.81x 3 23.43kN

<

P=7.81~23_43kN



yoshio
テキストボックス

yoshio
線

yoshio
線

yoshio
テキストボックス
100

yoshio
テキストボックス
・必要地耐力　60kN/㎡以上（長期）
・表面載荷　　 5kN/㎡以下
・天端荷重　　 1kN/ｍ以下

yoshio
テキストボックス
P=PH+PH'=5.31+2.50=7.81kN
M=5.31×1.25/3+2.50×1.25/2=3.78kN/m
h=3.78/7.81＝0.49m
Ps=7.81×3＝23.43kN

yoshio
線

yoshio
線

yoshio
線

yoshio
長方形

yoshio
長方形

yoshio
線

yoshio
テキストボックス
P=7.81～23.43kN

yoshio
テキストボックス
h=490㎜




